Trk2 8FHE

#5 0D hRESHFFTRE BRRAMFER

T S E = FER
1 T sy TR HEEF Bk S5) W B e
2 AUk 7/3 HAK AR TN T — L Kikie
3 fl 9/4 + 10/2 fill o WA B EE plPERE A
4 N —R—/b 10/9 + 11/6 + 20 Al 1. REBAF A N —R—/L =
5 BB 9/25 il AR B LBk
6 V7 RIR—)L 10/2 + 9+ 10 TRIEZ B - M EEBI A - RS T R V7 MR—IVHE
7 e w53 9/4 PG T TR A R e LR b2 tsk e
8 o 11/13 HEBIA B fE IIRES
9 F B 2/5 HEBA A fE SR
10 Py d— 1/22-2/5 EES > U —5 Ty —=
11 F = 2 10/9 + 10 + 16 |#hor i - Bk - W7 =2 =2— b 7 = AW
12| Ry b [T 2 B 7 R A ARGy N R
13 V7 N T=A 11/5 BT = A3 — | V7 N T =AY
14 7 L—H 8 9/18 Fi FH S B 7 L—5tE e
15 R/ 11H 4] BERBESERR s o I\ T ~FaT Ry v I
16 i 10/2 HEBIA B fE ESEIEES
17| ASKIvhr 11/6 2 R A NRIV bR
18 T A TV 11/6 TEEAR—Y o748 T4 7 VHBERS
19 A F = 3 HYHH) KEFEEGEAF—5 A F—
20 = 10/24 *x & TF T DT
21 Ry 10/10 *x GE Ry v IHe
22 7% FE 11/27 HEBIA B fE 72 i
23 7 — hAR— 10/8 + 9 HENREERS = — b 7 — MR —LE
24 IRERT 10/23 HEBA B EE AP C:Y: ]
25 5 11/23 HEH A = I D0E FiE
26 | 2= =Pk r— 2/26 RN 2= R—HY iRy r—E
271 =y anz 10/23 PR/ S— 7 2L T W=7 ANTHE
28 BT AR 4 8/27 HEBIA B fE T AR 24 1 B
29|77 R Tz 11/26 7 DU Hr AR 777 R VT HE
30 R_E Y 10/22 WEHEW N T T K NRE e
31| FroARRAR—Y 11/23 BRI E A B AAR—=Y e
32| NUURTF=2 7/31 HE AR B Ny KT = A he
33 A —k RIE RIE 27— N
VAN N=E S 11/6 FREY N AR — AR
4 v b Wk 2 5 AR &0 ke ERVAN S
3 3wtk (k= 1) 3 3EFEMHIK (k1)




